



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{5}\right) \times \frac{3}{5} + \left(\frac{3}{4} - \frac{1}{3}\right)^2 =$$

$$\left(2 + \frac{2}{3}\right)^2 + \frac{2}{3} - 5^2 - \frac{3}{4} =$$

$$\left(4 - \frac{3}{5}\right)^2 - \frac{1}{6} + 4^2 - \frac{1}{3} =$$

$$\left(\frac{1}{4} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \frac{1}{6}\right) =$$

$$\left(4 + \frac{3}{5}\right)^2 + \frac{1}{2} \times 2^2 + \frac{3}{4} =$$

$$\left(\frac{1}{3} - \frac{2}{3}\right)^2 + \frac{2}{5}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(4 - \frac{1}{4}\right)^2 - \frac{1}{2} - 5^2 \times \frac{1}{3} =$$

$$\left(2 - \frac{1}{3}\right)^2 - \frac{3}{4} \times \frac{1}{5} - 3^2 =$$

$$\left(\frac{1}{6} + \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \frac{1}{2}\right) =$$

$$\left(2 - \frac{3}{4}\right)^2 - \frac{1}{3} \times 3^2 \times \frac{1}{3} =$$



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$\left(\frac{1}{3}\right)^2 + \frac{1}{5} \times \frac{3}{5} + \left(\frac{3}{4} - \frac{1}{3}\right)^2 = \frac{1297}{3600}$$

$$\left(2 + \frac{2}{3}\right)^2 + \frac{2}{3} - 5^2 - \frac{3}{4} = \left(-\frac{647}{36}\right) = \left(-17\frac{35}{36}\right)$$

$$\left(4 - \frac{3}{5}\right)^2 - \frac{1}{6} + 4^2 - \frac{1}{3} = \frac{1353}{50} = 27\frac{3}{50}$$

$$\left(\frac{1}{4} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{2} - \frac{1}{6}\right) = \frac{11}{48}$$

$$\left(4 + \frac{3}{5}\right)^2 + \frac{1}{2} \times 2^2 + \frac{3}{4} = \frac{2391}{100} = 23\frac{91}{100}$$

$$\left(\frac{1}{3} - \frac{2}{3}\right)^2 + \frac{2}{5}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) = \frac{37}{90}$$

$$\left(4 - \frac{1}{4}\right)^2 - \frac{1}{2} - 5^2 \times \frac{1}{3} = \frac{251}{48} = 5\frac{11}{48}$$

$$\left(2 - \frac{1}{3}\right)^2 - \frac{3}{4} \times \frac{1}{5} - 3^2 = \left(-\frac{1147}{180}\right) = \left(-6\frac{67}{180}\right)$$

$$\left(\frac{1}{6} + \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \frac{1}{2}\right) = \frac{1}{9}$$

$$\left(2 - \frac{3}{4}\right)^2 - \frac{1}{3} \times 3^2 \times \frac{1}{3} = \frac{9}{16}$$